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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
| each sentence. Then mark the correct choice on your answer sheet.

1- Doctors should ---------- a while on the wisdom of separating babies from their mothers.
1) ponder 2) resolve 3) recover 4) proceed
2- 1Is the job of the police to enforce ---------- with the regulations?
1) authority 2) compliance 3) resolution 4) compensation
3- He was found guilty of ---——--- of justice.
1) deviation 2) obstruction 3) implication 4) submission
4- The lawyer claimed that the company had shown a(n) ---------- disregard for its
employees® safety.
1) reckless 2) engrossed 3) illegible 4) tentative
5- The book explains the ---=-- —- of the English language from old to modern English.
1) initiation 2) incidence 3) reverence 4) evolution
6- The party is promising low inflation and ---------- economic growth.
1)} mature 2) haphazard 3) sustainable 4) preliminary
7- We have -—------ -- many new features into the design of the building.
1) displaced 2) assigned 3) enhanced 4) incorporated
8- Global warming might ------—-- dramatie¢ changes in our climate.
1} induce 2) compile 3) conceive 4) penetrate
9- Some teachers welcomed the change in the educational system; but for the majority, the -
----- was (rue.
1) revival 2) converse 3) endeavor 4) contradiction
10- The problem had been to in earlier discussions.
1) alluded 2) assumed 3) coincaded 4) overlapped
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| Directions: Read the following passage and decide which choice (1), (2),43), or
I (4) best fits each space. Then mark the correct choice on your answer sheet.

e —— e —

Mass communication is the sending of messages through the mass media of television,
radio, newspapers, and the cinema. Mass communication (11) —--—-— a mass of people, that
is, a large number of “receivers.” It is an expensive business (12) -------- == can usually only be
undertaken by large companies with large amounts of money (13) ———-- . such as television
and radio companies, publishing houses, and film studios. The technology used is costly and
complex, and can rapidly become (14) —--------- date. Mass communication has arisen mainly in
the 20™ century. It depends upon (15) ===sem=- a certain degree of education. This century has
seen the invention of radio and television, and the growth of newspaper and magazine
circulations.

11- 1) aims to 2) has aim at 3) is aimed at 4) has aim to

12- 1) s0 2) and 3) that it 4) which it

13- 1) spends 2) spending it 3) to spend 4) for spending

14- 1) to 2) out for a 3) for the 4) out of

15- 1) public having 2) public to have 3) the public to have  4) the public having

PASSAGE 1:

Cartographic animation and multimedia visualization are now high on the agenda of the
cartographic research community. These new applications combine spatial data from different
sources and present them in a much more intuitive manner than conventional static maps. They
are_rapidly gaining popularity in a wide range of fields including urban development,
environmental management, population studies, regional planning, and cartographic design. Up
to now, the role of GIS in cartographic animation and multimedia visualization has been as a
passive data supplier. GIS software products today have no native function that will generate
animated sequences. However, attempts in the last several years to develop integrated
cartographic systems using GIS, image processing, and animation technigues haye generated
Very encouraging results.
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16- Cartographic animation is ----—------ research in the field of cartography.
1) one of the most active topics for
2) an ordinary 1tem on the agenda of
3) the only highly demanded topic for
4) more important than multimedia visualization for
17- Cartographic animation is ----—--------,
1} taking the place of a GIS software
2) highly demanded by different fields everyday
3) rapidly gaining popularity as a passive way of data presentation
4) an unnatural way of presenting spatial data from different sources
18- People have successfully tried to —----—-—-.
1) use GIS software with image processing techniques
2) extend the GIS software with the capability of animation
3) connect cartographic animation with multimedia visualization
4) present the spatial data in the intnitive manner of conventional static maps

PASSAGE 2:

The rubber-sheeting model is a plecewise polynomial model for geometrically correcting
severely warped images in a number of steps. The first step is to form a triangulated irregular
network (TIN) from all the available GCPs. The image area encompassed by each triangle in
the network is rectified wsing the first (linear) or the fifth (nonlinear) order polynomials.
Because of geometric uncertainty, the areas outside the convex hull of the TIN should not be
rectified using this model. The rubber-sheeting model is appropriate for rectifying highly
distorted images when a large contingent of GCPs is available. For this reason it should not be
the first choice if other geometric models are applicable because the output image may suffer
discontinuity at the transit from the faucet of one triangle to the next.

19-The geometric correction of an image using rubber-sheeting technigue is done ---------- -
1) on a patch by paich base.
2} on the whole image at once.
3)only on images which have been obtained in a number of steps.
4) in a number of steps which depends on how distorted the image is.
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20- The rubber-sheeting model is good for geometric correction of images which —-------—- i
1) are harshly distorted
2) are warped in a number of steps
3) have TINs constructed by GCPs

4) have uncertainties in the order of polynomials
21- One can vse the rubber-sheeting model if -—-—-----—--- .
1) other appropriate geometric models exist
2) TINs can easily be formed form the GCPs
3) the area to be modeled is outside of the convex hull
4) the image is severely warped and lots of GCPs exist
22- The image discontinuity at the transit from the faucet of one triangle to the next comes
from —-----—- :
1) the convex hull of the TINs
2) having large contingent of GCPs for each TIN
3) using different order of polynomials for each TIN
4) The fact that the image area is encompassed by each tnangle

| choose the best choice (1),(2),(3) or (4) then mark it on your answer sheet. |

23- The spread spectrum GNSS signal design allows mitigating a great deal of interference
signals.

1) The spread spectrum technique allows a great deal of signal design
2) GNSS mitigates a great deal of interference signal by the spectrum of the signal

3) The spread spectrum technigue considerably reduces the effect of interfering signals
4) A great deal of imerference signal is designed to mitigate the spread spectrum of GNSS
signals.

24- The satellite clock biases and other parameters are neglected to emphasis the actual orbit
determination which is performed in two steps.
1) To emphasis on actual orbit determination, there is no other way except doing that in two
sieps.
2) The actual orbit determination is performed in two steps because the satellite clock bhiases
are neglected.
3) There are lots of other parameters which emphasis that the actual orbit determination is a
two Step process.
4) By taking out the satellite clock biases and other parameters, one can focus on actual orbit
determination.
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25- The dry component of the tropospheric delay can be computed with high accuracy based
on surface meteorological data, while the remaining wet component is a function of the
water vapour in the atmosphere.

1) Water vapour in the atmosphere is the dominant parameter in the magnitude of the
tropospheric delay

2) The tropospheric delay is a function of surface meteorological data and water vapour in the
atmosphere

3) The dry component of the troposhperic delay is measured with high aceuracy on the surface
of the earth.

4) The wet component of the tropospheric delay is computed with high accuracy as a function
of the water vapour in the atmosphere.

26- Although image classification is mostly performed automatically by the computer in the
digital environment, human intervention still plays an indispensable role in iis success.

1) Digital environment always requires human intervention

2) The role of computers in image classification is very neglegible

3) Successful image classification still needs human supervision

4) Most of image classification is done manually in the digital environment.

27-1If the spectral properties of a ground cover vary geographically across the study area, a
few patches of training areas positioned throughout the image should be included in the
samples. Here patches means:

1) Images 2) Spectral bands 3) Piece of land 4) Spectral properties

28- Topology is the study of those properties of geometric objects that remain invariant
under certain transformations such as bending or stretching. Here invariant means:

1) Distorted 2) Affected 3) Transformed 4) Unchanged

29- Object oriented technology has impacted many fields for more than two decades. Here
impact means:

1) Alter 2) Replace 3) Preserve 4) Maintain

30- The affine transformation uses the coefficients derived from a set of control points to
transform a digitized map or a satellite image. Here derived means:

1) Made 2) Caused 3} Included 4) Obtained
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